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1. B 2008 R TS BLAH BN 5850 Ji TG, BHEERINEE K 20%, MACHE{E AL
RN 6. 5% , 3 FIHITH R BLRL AN 5%, SAEBIBL AN 17%, i 47 @ WAL AON 7%,
HOA PN EAENCR Iy 3% MRS 5 R A 73 B 75 %, T SN BT ASBL 100 J3 T .
ABUE 12 AV 2B 7 BT A FH (A4 RS A 4 3T A R 1

TR MRS EIRBERHIN S Z AL 2008 SE TR T FIlEhr

(1) LA P A s
(2) MAZHAMERL R fa i vh 5D,
(3) AT T G4 A



(4) NIAZHCH T
(5) NLAZHH BB e e B

SHE R

(1) REBAIERAN=5850/ (1+17%) =5000 (JiJB)
A $ A =5000X 5% =250 (Ji70)
(2) NAZHE{EFL=5000X6.5% =325 (J370)
(3) RIS 4Ed @ ¥R = (250+325) X7%=40.25 (JiJ0)
(4) NAZHE M= (2504+325) X3%=17.25 (JiJB)

(5) NAZAHEERL 4 M In=250+40. 25+17. 25=307.5 (JJ0)

2. FEAN A =RV A BB S, TR 2009 4E DU ANZE B T4 65 HlE 23 i 1000 44
1500 ff:+ 2000 f-A11 1800 15 A Flj™ gh Pt AL EM 9 100 Jo. FBBAEREHERAF, K
R ILE: 60%, 351 40% RN FEEA fedilnl, AR RIBUKFCR AT 62000 JC.

TR (1) ifhl] 2009 EHS & U

(2) HiE 2009 R MK H AR D

SHER:
@D)
2009 FEEHEWHE B g6
ES Jic 1 2 3 4 4 F
Tk () 1000 1500 2000 1800 6300
A ) 100 100 100 100 100
T E RN 100000 150000 200000 180000 630000
K 2K HAH) 62000 62000
‘ 100000 X 60%=|100000 X 40%
BB HWERAN 100000
60000 =40000
\ 150000 X 60% (150000 X 40%=
B oEEUERAN 150000
=90000 60000
B ‘ 200000 X 60%= [200000 X 40%=
B=FEUERAN 200000
120000 80000
\ 180000 X 60% =
EANESE RN N 108000
108000
MEWN BT 122000 130000 180000 188000 620000
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2007 4R MUK = 58 DU ZR FER RN X (1 — ARl )
=180000X (1—60%) =72000 (Jt)

3. FAT] 2009 4 12 H 85U 2010 4E 1—2 A4 MHUHE 815718 150 J37G6. 100
FiT6 200 F5ot. HEAHRKERUT:
(1) 24 AN 24 H UL 60%, A>T Ak El;
(2) MRERIERA N T A8 EHH 80%. 24 H KM &4 4 A 8L 70% T H A&
1) 30%.
OB A RIS RGBT, (AATHET 3 Jio0, B R BB RATHZCR A%
(4) fEFRAERIZA 12%, fEREULFHK ARG WU 5 000 A H, FIBEATE,
AEWR), EFAEWIAR .
FK:
(1 tHE#E 2010 £ 1 A48 S ILE RN S ARG SRR B &
(2) VHEHAE 2010 45 1 3 31 HEEF=ffiigech “ Rl ” A« RATIK R T H 440
(3) MR 2010 4 1 A4 Bt MG =AUy —12. 32 J376, tHEAE 1 RIS
R

(4) st 2010 4 2 A P IBLE RN 7. 598 Ji7T, tHHEEE 2 A RILER

(D

1 A E LSRN =100 X 60%+ 150X 40%=120 (JiT)
1 43 M SERA R 43 HY =200 X 80% X 70%-+ 100 X 80% X 30% =136 (J37T)
(2)

R R =100 X 40%=40 (J375)

AT R =200 X 80% X 30%=48 (J75)

(3

1 Atk =15.5 (Jijt)

1 ARG AH=15.5—12.32=3.18 (Jit)

(4)

2 Hric g A4=4.5 (im)

2 HiE A 8 =4. 5X2%=0.09 (75)

2 ARMIL 4 A%i=1.598—4.5—0.09=3. 008 (J37L)



4. FARNV TR T H W AR A 8000 F5 T, N H AR 4000 J5 7T, Tt H AT E
80%; A 45%% 50000 F5 75, 43AUEI N4 50%; SRIERE h 8000 J5 7T, WA HE 445 >4 HHAT 2K 70%;
ARSI KA E 5000 J376, #EH WAEAHE, T H L34 8400 Fioc: [#E:RH
5000 J37G, FHAHTIHBE 4000 /376; THACHTSHL 900 JTo0; AT RN 7850 Jiot, WK
WA SCATIL4E 20000 570, BLEA R, [AHRATIHER, (EE&F0N 100 JIomfsd. e
RN 300 Ji Tt

TR

(1) 5T ARG R
(2) R AFIEA AR, BE BRI 0%, BERLE KNt 2800 75,
P32 25%, Tz AL~ A BBE R
(3) FHTt 2 5] R R R S R A T K o
SHEER:
(1

HHT I <8 AR 8000 (Jit)

e BRIMAYN = 4000X80% + 50000X50% = 28200 (JjI0)

A I 4 36200 (J370)

W S EE T 48750 (Ji70)

PARER I 32 H=8000 X 70%+5000= 10600
T 8400

]2 3 I 52 Hi = (5000-4000) = 1000

A A5 4 B B 9= 7850

FIrA3 i 52 900

) SE 2% 3 20000

W2 REA L ~12550 (JiJ0)

) RAT f K 12900 (/o)

HAR I <8 AR 350 (JiJB)

(2)

iA=L ON 50000

e B A 30000=50000% (1-40%)

e BB A I 2800

e ZE R 13400=8400+5000

(IR 3800




ik PTSH 950

eI 2850

(3)
H AR R £=50000 X 50%+4000 X 20%=25800 (/3 75.)
AR BEATIK #=8000 X 30%=2400 (J375)



